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X
n t 0 4 8 12 16 20
0 0 2 2 2 2 2 2
1 67.2 0 2 2 2 2 10
2 134.4 0 1 2 2 6 10
3 201.6 0 1 1.5 4 6 10
4 268.8 0 0.75 25 SWI5 7 10
5 336 0 1.25 225 | 475 | 6.875 10
6 403.2 0 1.125 3 4.563 | 7.375 10
7 470.4 0 %5 2.844 | 5188 | 7.281 10
8 537.6 0 1.422 | 3.344 | 5.063 | 7.594 10
9 604.8 0 1.672 | 3.242 | 5.469 | 7.531 10
10 672 0 1.621 | 3.57 | 5.387 | 7.734 10
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f(x,0)=sin(7x) — f(0,)=0  f(Lt)=0
S=05 Dt= 0.02
X
n t 0 0.1 0.2 0.3 04 0.5 0.6 0.7 0.8 0.9 1
0 0 0 0.309 | 0.588 | 0.809 | 0.951 1 0.951 | 0.809 | 0.588 | 0.309 0
1 0.02 0 0.294 | 0.559 | 0.769 | 0.905 | 0.951 | 0.905 | 0.769 | 0.559 | 0.294 0
2 0.04 0 0.28 | 0.532 | 0.732 0.86 | 0.905 0.86 | 0.732 | 0.532 0.28 0
3 0.06 0 0.266 | 0.506 | 0.696 | 0.818 0.86 | 0.818 | 0.696 | 0.506 | 0.266 0
4 0.08 0 0.253 | 0.481 | 0.662 | 0.778 | 0.818 | 0.778 | 0.662 | 0.481 | 0.253 0
5 0.1 0 0.24 | 0.457 | 0.629 0.74.42n0.778 0.74 | 0.629 | 0457 0.24 0
6 0.12 0 0.229 | 0.435 | 0.599 | 0.704 0.74 | 0.704 | 0.599 | 0.435 | 0.229 0
7 0.14 0 0.217 | 0.414 | 0.569 | 0.669 | 0.704 | 0.669 | 0.569 | 0.414 | 0.217 0
8 0.16 0 0.207 | 0.393 | 0.542 | 0.637 | 0.669 | 0.637 | 0.542 | 0.393 | 0.207 0
9 0.18 0 0.197 | 0.374 | 0.515 | 0.605 | 0.637 | 0.605 | 0.515 | 0.374 | 0.197 0
10 0.2 0 0.187 | 0.356 049 | 0576 | 0.605 | 0576 | 0.49 | 0.356 | 0.187 0




0 0.241 | 0.459 | 0.632 | 0.743 | 0.781 | 0.743 | 0.632 | 0.459 | 0.241 0
0 0.189 | 0.359 | 0.494 | 0.581 | 0.61 | 0.581 | 0.494 | 0.359 | 0.189 0

Y JGo

= 1> x>0 "N\&x=0.1 Je

1
t Z fxx
f (X,O) :Sin(JZ'X) f (O,t) =0 f (l,t) =0

FTCS, S=0.5

1
0.9
0.8
0.7
0.6 - A0

« 05 4 o2

0.4 —
03 e
02 =g
0 1 10

0 L

0 0.2 0.4 0.6 0.8 1
X
7t -0
f(x,f)=e *sin(zx) ‘e <l
X
0 01 ] 02 | 03 | 04 | 05 | 06 | 07 | 08 | 09 1

$=0.5

0.8

0.7 \

0.6 \
G —e—1t=0.1, FTCS
oy ) —e—t=0.2, FTCS
——1=0.1, Analytic
0.3 \ —e—1t=0.2, Analytic

0.1 / N\




Y JG

Error = Numeric — Analitic s w5 4

X

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

o =

0.1 0 -0.001 | -0.002 | -0.003 | -0.003 | -0.003 | -0.003 | -0.003 | -0.002 | -0.001

Error 5 0 |-0.002-0.003 |-0.004 | -0.005 | -0.005 | -0.005 | -0.004 | -0.003 | -0.002 | 0
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S=0.2 At= 0.008
X
n t 0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0 0 0 0 0 0 0 0 0 0 0 0 0
1 0.008 0 0 0 0 0 le 0 0 0 0 0
2 0.016 0 0 0 0 0.2¢ 0.6¢ 0.2¢ 0 0 0 0
3 0.024 0 0 0 0.04¢ 0.24¢ 0.44¢ 0.24¢ 0.04¢ 0 0 0
4 0.032 0 0 0.008¢ | 0.072¢ | 0.24¢ 0.36¢ 0.24e | 0.072¢ | 0.008¢ 0 0
5 0.04 0 0.0016¢ ] 0.0192¢ | 0.0928¢ | 0.2304¢ 0.312¢ 0.2304¢ | 0.0928¢ | 0.0192¢ | 0.0016¢ 0
:‘ *
S=0.2 Dt= 0.008
X
n t 0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0 0 0 0 0 0 0 0 0 0 0 0 0
1 0.008 0 0 0 0 0 1 0 0 0 0 0
2 0.016 0 0 0 0 0.2 0.6 0.2 0 0 0 0
3 0.024 0 0 0 0.04 0.24 0.44 0.24 0.04 0 0 0
4 0.032 0 0 0.008 | 0.072 | 0.24 0.36 0.24 | 0.072 | 0.008 0 0
5 0.04 0 0.002 | 0.019 | 0.093 | 0.23 | 0.312 | 0.23 | 0.093 | 0.019 | 0.002 0
6 0.048 0 0.005 | 0.03 | 0.106 | 0.219 | 0.279 | 0.219 | 0.106 | 0.03 | 0.005 0
7 0.056 0 0.009 | 0.04 | 0.113 | 0.209 | 0.255 | 0.209 | 0.113 | 0.04 | 0.009 0
8 0.064 0 0.013 | 0.049 | 0.118 | 0.199 | 0.237 | 0.199 | 0.118 | 0.049 | 0.013 0
9 0.072 0 0.018 | 0.055 | 0.12 0.19 | 0.221 0.19 0.12 | 0.055 | 0.018 0
10 0.08 0 0.022 | 0.061 | 0.121 | 0.182 | 0.209 | 0.182 | 0.121 | 0.061 | 0.022 0
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S=0.5 Dt= 0.02
X
n t 0 0.1 0.2 0.3 04 0.5 0.6 0.7 0.8 0.9 1
0 0 0 0 0 0 0 0 0 0 0 0 0
1 0.02 0 0 0 0 0 1 0 0 0 0 0
2 0.04 0 0 0 0 (045 0 0.5 0 0 0 0
8 0.06 0 0 0 0.25 0 0.5 0 0.25 0 0 0
4 0.08 0 0 0.125 0 0.375 0 0.375 0 0.125 0 0
B 0.1 0 0.063 0 0.25 0 0.375 0 0.25 0 0.063 0
6 0.12 0 0 0.156 0 0.313 0 0.313 0 0.156 0 0
7 0.14 0 0.078 0 0.234 0 0.313 0 0.234 0 0.078 0
8 0.16 0 0 0.156 0 0.273 0 0.273 0 0.156 0 0
9 0.18 0 0.078 0 0.215 0 0.273 0 0.215 0 0.078 0
10 0.2 0 0 0.146 0 0.244 0 0.244 0 0.146 0 0
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S=0.75 Dt= 0.03
X
n t 0 0.1 0.2 0.3 04 0.5 0.6 0.7 0.8 0.9 1
0 0 0 0 0 0 0 0 0 0 0 0 0
1 0.03 0 0 0 0 0 1 0 0 0 0 0
2 0.06 0 0 0 0 0.75 -0.5 0.75 0 0 0 0
3 0.09 0 0 0 0.563 | -0.75 | 1.375 | -0.75 | 0.563 0 0 0
4 0.12 0 0 0.422 |-0.844 | 1.828 |-1.813 | 1.828 |-0.844 | 0.422 0 0
5 0.15 0 0.316 |-0.844 | 2.109 |-2.906 | 3.648 | -2.906 | 2.109 |-0.844 | 0.316 0
6 0.18 0 -0.791 | 2.241 |-3.867 | 5.771 | -6.184 | 5.771 | -3.867 | 2.241 | -0.791 0
7 0.21 0 2.076 |-4.614 | 7.943 |-10.42 | 11.75 |-10.42 | 7.943 | -4.614 | 2.076 0
8 0.24 0 -4.499 | 9.822 |-15.25| 19.98 | -21.51 | 19.98 | -15.25 | 9.822 | -4.499 0
9 0.27 0 9.616 [-19.72 | 29.98 | -37.56 | 40.73 | -37.56 | 29.98 | -19.72 | 9.616 0
10 0.3 0 -19.6 | 39.56 |-5795|71.81 | -76.7 | 71.81 |-57.95| 39.56 | -19.6 0
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0 0.1 02 | 03 | 04 0.5 06 | 07 0.8 0.9 1
0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 1 0 0 0 0 0
0 0 0 0 1 i 1 0 0 0 0
0 0 0 1 -2 3 D 1 0 0 0
0 0 1 -3 6 X 6 =) 1 0 0
0 1 4 10 -16 19 -16 10 4 1 0
0 5 15 -30 45 51 45 -30 15 5 0
0 20 -50 90 [ 126 | 141 | 126 | 90 -50 20 0
0 70 | 160 | 266 | 357 | -393 | 357 | 266 | 160 | -70 0
0 230 | 496 | 783 [ -1016 | 1107 [ -1016 | 783 | -496 | 230 0
0 726 | 1509 | -2295 | 2906 [ -3139 | 2906 | -2295 | 1509 | -726 0
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